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All questions are compulsory.

This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Section C is of 9 questions of three marks each and

Section D is of 3 questions of five marks each.

There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and all the three
questions of 8§ marks weightage. A student has to attempt only one of the

alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and properly
labelled.
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SECTION A

B o IE U HT A9 TS, et Tfeeuur g 61 Tgt & Bt Hid 3 |

Name the part of the flower which the tassels of the corn-cob represent.

AL & MY o oIl o TaYg H WH whls o R fatet @eqor sase e i<«
J 31 fomam o |

Mention any two contrasting traits with respect to seeds in pea plant that
were studied by Mendel.

Tt wrfies gforenm srgfran it srien fediaes gfmen s sifuss o
i Bl 8§ ?

Why is secondary immune response more intense than the primary
immune response in humans ?

forelt o DNA = forw e =i g9vwa 781 8 for 98 ssmam <l o § fore
Hf ST T IGHT & Y IH AT TR T §9 § fcrehlaa HLal @ ?

Why is it not possible for an alien DNA to become part of a chromosome
anywhere along its length and replicate normally ?

HHE 3G # C Uwrse i yfiehT Sarsy |

State the role of C peptide in human insulin.

IS DNA Senfieht & fofe Siamveta (Seifae) qen shashia shifsenrsti o
DNA % JIahtu § ST fohT ST aret Tmgwl o 9w fofew |

Name the enzymes that are used for the isolation of DNA from bacterial
and fungal cells for recombinant DNA technology.

~ o C o o hd
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State Gause’s Competitive Exclusion Principle.

gﬂma?f—%qwqm%ﬂ“@qaﬁsﬂww?wmﬁﬁ%ma@mmﬁ
|

Name the type of association that the genus Glomus exhibits with higher
plants.
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SECTION B
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Why are the human testes located outside the abdominal cavity ? Name
the pouch in which they are present.
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(b) 39 YNESAT 1 6@ T F T ST B 2

In Snapdragon, a cross between true-breeding red flowered (RR) plants
and true-breeding white flowered (rr) plants showed a progeny of plants
with all pink flowers.

(a)  The appearance of pink flowers is not known as blending. Why ?

(b)  What is this phenomenon known as ?

MG A H HEIHIEA do1 Sglosheddl i IRESAIST &I T 3QE0l i
TEIdT ¥ ¥ Sl |

With the help of one example, explain the phenomena of co-dominance
and multiple allelism in human population.
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Write the scientific name of the fruit-fly. Why did Morgan prefer to work
with fruit-flies for his experiments ? State any three reasons.

OR

Linkage and crossing-over of genes are alternatives of each other. Justify
with the help of an example.

13. UGhNEal (Vehfufad) & e i gt a5t | frdt wey =fe 8§ a8
HHAYT TR TR Tl 8 ? 2
List the symptoms of Ascariasis. How does a healthy person acquire this
infection ?

14. Tt uifeufoehl doemfia &3 & S8 erenviicegiars@ i Agw@qul
ftrehT THETET | 2

Explain the significant role of the genus Nucleopolyhedrovirus in an
ecological sensitive area.

15. Ueeam (dfaees) feaes fhd TR 1l il 8 ? Iuemsy | 2
How does a restriction nuclease function ? Explain.
16. RS Smoft fferfied o fowar @ form Jepr ARl g g 8 ¢ 2

(a) SAfoehlT 3G % IcdTeH
(b)  TEH & qleqor

How have transgenic animals proved to be beneficial in :
(a)  Production of biological products
(b)  Chemical safety testing

17. 3SR % 94 AR ddd & o9 WER G99 H1 I0F HINT 3R 37 IREe T
feouft <hifT St 3o "o H 1 Ll 2 | 2

Describe the mutual relationship between fig tree and wasp and

comment on the phenomenon that operates in their relationship.

18. T% UEl oy TRfre sAmu od Ame Sqee $i seonia gig 6 feafd
e Bl 8 | 2

Construct an age pyramid which reflects an expanding growth status of
human population.
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SECTION C
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Make a list of any three outbreeding devices that flowering plants have

developed and explain how they help to encourage cross-pollination.
OR

Why are angiosperm anthers called dithecous ? Describe the structure of

its microsporangium.

Ife AN I 3Tk HUR @A Td 8l YeH i & [T dgat dehdieh Td
T2 WHIfGET AR I ATERIS 7, A UHIEEH W duTe giday @
AT 1 8 ? 39 dehieh o I9ANT o foawar # fafgu ik gfdey &t 3fa sawm
% 9% T HIUT T |

If implementation of better techniques and new strategies are required to

provide more efficient care and assistance to people, then why is there a
statutory ban on amniocentesis ? Write the use of this technique and give

reason to justify the ban.

HHE SAIAMREA o T H I [oeeiyur &= fohal ST 8 ? 389 el 51
T aTet TRy foafan |

Why is pedigree analysis done in the study of human genetics ? State the

conclusions that can be drawn from it.
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Identify ‘a’, ‘b’, ‘¢, ‘d’, ‘¢’ and ‘" in the table given below :

No Syndrome Cause Characteristics of Sex
) M affected individuals | Male/Female/Both
, Trisomy |‘@ (@) o
1. Down’s of 21 (i) b
9 ‘@ XXY Overall masculine &
development
3. Turner’s | 45 with XO © El)) ‘
il

23. 3Tk Tho < TG Hal fI¥ET 4 Thdt o UH dlc Tk TG S&d & h
e f S E S T o 98 & O e WRe ug
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(a)  UH GATHIAl o TS i hl T STEATTRAT & ?

(b) 39 whedl & favg § fafgu St =19 37 fowm & & geww & w9 § b
1Yy Sra=iid § IS4 dqTfeh o Teh EIEY S =l Heb |
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Community Service department of your school plans a visit to a slum
area near the school with an objective to educate the slum dwellers with
respect to health and hygiene.

(a) Why is there a need to organise such visits ?

(b)  Write the steps you will highlight, as a member of this department,

in your interaction with them to enable them to lead a healthy life.
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(c) W@ D T A 3{|{|§| o9 ST ?
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The following graph shows the species — area relationship. Answer the
following questions as directed.
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(a) Name the naturalist who studied the kind of relationship shown in
the graph. Write the observations made by him.

(b)  Write the situations as discovered by the ecologists when the value
of ‘Z’ (slope of the line) lies between

(i) 0-1and0-2
(11) 0-6 and 1-2
What does ‘Z’ stand for ?

(c) When would the slope of the line ‘b’ become steeper ?

25. 39 1 1 AW ARG T 3IHehT AU hiT [k GRI 3 DNA @US| !
9o i H gl et g S fegaeH (i) TERIfaaes 1 39T hih
CECI 3
Name and describe the technique that helps in separating the DNA
fragments formed by the use of restriction endonuclease.

26. NI H FUS B 1 w1 BT 8, [RIY | FHld H HeH-TH T EADd
Hisd AHATST | 3

State the function of a reservoir in a nutrient cycle. Explain the

simplified model of carbon cycle in nature.
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Since the origin of life on Earth, there were five episodes of mass
extinction of species.

1) How is the ‘Sixth Extinction’, presently in progress, different from
the previous episodes ?

(i1))  Who is mainly responsible for the ‘Sixth Extinction’ ?

(iii)  List any four points that can help to overcome this disaster.

Qus D

SECTION D

() HEdT | 8= gl BT 2 2 39 UishaAT § B4 aTel] TN THEATST |

(b) T UE I Tored afd 3R qedt g1 H g hRINfA e oF | 8, T
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(a)  Where does fertilization occur in humans ? Explain the events that
occur during this process.

(b) A couple where both husband and wife are producing functional
gametes, but the wife is still unable to conceive, is seeking medical
aid. Describe any one method that you can suggest to this couple to
become happy parents.

OR

(a) Explain the different ways apomictic seeds can develop. Give an
example of each.

(b)  Mention one advantage of apomictic seeds to farmers.

(c) Draw a labelled mature stage of a dicotyledonous embryo.

29. (a) UMY & 39 T & fafie =won =1 avH Hifse frees g suraresi
fargra =1 frshy et o |

(b) FUEUERN fagia’ S TEmES Thid fhE TR T1fid 53 off ? 5

HYAT

gFics T e < Iufedfa va erqufedfa, g qumsti ¥ &% MU fohe R
& AT 8, IUH SHINT |

(a)  Describe the various steps of Griffith’s experiment that led to the

conclusion of the ‘“Transforming Principle’.

(b)  How did the chemical nature of the ‘Transforming Principle’ get
established ?

OR

Describe how the lac operon operates, both in the presence and absence of

an inducer in E.coli.
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With advancements in genetics, molecular biology and tissue culture,
new traits have been incorporated into crop plants.

Explain the main steps in breeding a new genetic variety of a crop.

OR

(a)  State the objective of animal breeding.

(b)  List the importance and limitations of inbreeding. How can the
limitations be overcome ?

(c) Give an example of a new breed each of cattle and poultry.
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